
FAQ#4000453

� 1

CDP Baseline������
2024.05.10 18:17:03

FAQ����

��: i2CDP������ ����: 1

��: ��(��) ��: 100.00 %

��: zh_CN ����: � 2023/04/20 10:03:18

�� (��)
����
�����6.1-x�7.1.x

�� (��)
�����6.0/6.1���CDP����������������������CDP���baseline�CDP���������������6.1-27358�����

���� (��)
CDP baseline������

Baseline �������(��CDP������X��������������Y) 
- baseline����������X+Y+7�/7  ��7��������������3+3+7�/7=1.85
���2������7���30�����
- ��X+Y  ������3+3=6�

����X+Y �����2�26�baseline�����

�������

- baseline����������CDP������


